Name:

Time Limit — 3 minutes

Time:

Olympic Medal Test — 100 mixed guestions

12x 8= 121 +11 = 22 +2 = 90+ 10 = 5x4=

9x 11 = 3x3= X8=16 45 +5 = 24 + 8 =

X7=42 54 + 6= 12x =36 90+ =10 12x =132
48 + 6 = +11=12 27 +3 = 7x =28 X9=72
81+9= 45 +9 = X3=18 X3=33 8x =88
7X9= 3x8 = 12x 9= X4=0 3x9=

+4=8 X4=48 11x 11 = 5x 6= 4x =12
50+ 10 = 7x5 = 7x =42 X7=14 7x8=

9x 3= 9x =45 +3=9 8x10= 36 +6=
21 +7 = +3=8 36 +4= 16 +4 = 54 +6 =
96 +~ 12 = 60 + 10 = 6x11= Ox11= 99 +9=
15+3= ITxX7= 4X6= 6X4= 12x 4 =
6Xx5= 11x 6= 144 + =12 11x =77 12x 10 =
3x7= X6=72 36 +12 = 2X =6 11x1=
x 11 =99 33 +11= 9x2= 14+ =7 4+2=
4x =36 8x 4= 22+ =11 132 +12 = 18 +6 =
7X6= 3x12= 60 +5= 3x5= 9x5=
63 +9= 4x7= 55+ =5 8x 10 = 11x6=
81+9= 110 +11 = O9x 11 = O9x 7= 96 + 8 =
X8=64 9x9= 4x9= 8l+ =9 10x 10 =




